



The Spectral Norm and Spread of g -Circulant Matrices Involving Generalized Tribonacci Numbers

Shouqiang Shen^a, Weijun Liu^b, Lihua Feng^b

^aSchool of Applied Science, Beijing Information Science and Technology University, Beijing, 100192, P.R. China.

^bSchool of Mathematics and Statistics, HNP-LAMA, Central South University, Changsha, Hunan, 410083, P.R. China.

Abstract. In this paper, we consider a g -circulant matrix $\mathcal{A}_g(T)$, whose the first row entries are generalized Tribonacci numbers $T_i^{(a)}$. We give an explicit formula of the spectral norm of this matrix. When $g = 1$, we also present upper and lower bounds for the spread of the 1-circulant matrix $\mathcal{A}_1(T)$.

1. Introduction and preliminaries

Let g be a nonnegative integer. A matrix $\mathcal{A}_g \in M_n$ is called a g -circulant matrix if it is of the form

$$\mathcal{A}_g = \begin{pmatrix} a_0 & a_1 & a_2 & \cdots & a_{n-1} \\ a_{n-g} & a_{n-g+1} & a_{n-g+2} & \cdots & a_{n-g-1} \\ a_{n-2g} & a_{n-2g+1} & a_{n-2g+2} & \cdots & a_{n-2g-1} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ a_g & a_{g+1} & a_{g+2} & \cdots & a_{g-1} \end{pmatrix} \quad (1)$$

where each of the subscripts is understood to be reduced modulo n . Obviously, when $g = 1$ or $g = n + 1$, the g -circulant matrix \mathcal{A}_g reduces to the standard circulant matrix.

Circulant type matrices not only have many connections to problems in physics, statistics and numerical analysis, but also have important applications in signal and image processing [1], networks engineering [2, 3], solving ordinary and partial differential equations [4, 5]. In recent years, there are several papers focus on the norms and spread of some special matrices [6–21]. For example, Solak [6] gave upper and lower bounds for the spectral norms of circulant matrices whose entries are Fibonacci and Lucas numbers. İpek [7] improved the estimation for the spectral norms of these matrices. Kizilateş and Tuglu [14] established upper and lower bounds for the spectral norms of geometric circulant matrices involving generalized Fibonacci and hyperharmonic Fibonacci numbers. Zhou and Jiang [16] derived some explicit formulas for the spectral norms of g -circulant matrices whose the first row entries are Fibonacci number, Lucas number and their powers. In addition, Johnson et al. [19] derived some lower bounds for the spread of a normal matrix. Li

2020 *Mathematics Subject Classification*. Primary: 15B05; Secondary: 15A60, 11B39

Keywords. g -circulant matrix, spectral norm, spread, generalized Tribonacci number

Received: 10 January 2021; Accepted: 14 July 2021

Communicated by Dijana Mosić

Research supported by NSFC (Nos. 12071484, 11871479), Hunan Provincial Natural Science Foundation (2020JJ4675, 2018JJ2479) and the Research Fund of Beijing Information Science and Technology University (No. 2025030).

Email addresses: shenshouqiang@126.com (Shouqiang Shen), wj1iu6210@126.com (Weijun Liu), fenglh@163.com (Lihua Feng)

et al. [21] investigated the norms and spread of circulant matrices with Tribonacci and generalized Lucas numbers.

Let a, u, v and w be arbitrary positive integers. The generalized Tribonacci sequence $\{T_n^{(a)}\}$ is defined by the following recurrence relations:

$$T_n^{(a)} = uT_{n-1}^{(a)} + vT_{n-2}^{(a)} + wT_{n-3}^{(a)}, \tag{2}$$

where $T_0^{(a)} = 0, T_1^{(a)} = a, T_2^{(a)} = au$. Some results concerning this sequence were given in [22–24]. When $a = u = v = w = 1$, the generalized Tribonacci sequence reduces to the Tribonacci sequence $\{T_n\}$ in [25]. Let γ_1, γ_2 and γ_3 be the roots of the characteristic equation $x^3 - ux^2 - vx - w = 0$. Then we have

$$\begin{cases} \gamma_1 + \gamma_2 + \gamma_3 = u, \\ \gamma_1\gamma_2 + \gamma_1\gamma_3 + \gamma_2\gamma_3 = -v, \\ \gamma_1\gamma_2\gamma_3 = w. \end{cases}$$

Throughout this paper, we assume that γ_1, γ_2 and γ_3 are distinct. The sequence $\{T_n^{(a)}\}$ can be defined for negative values of n by using the recurrence (2) to extend the sequence backwards, that is

$$T_{-n}^{(a)} = (-vT_{-n+1}^{(a)} - uT_{-n+2}^{(a)} + T_{-n+3}^{(a)})/w.$$

In this paper, let $\mathcal{A}_g(T)$ be a g -circulant matrix, whose the first row entries are $(T_0^{(a)}, T_1^{(a)}, \dots, T_{n-1}^{(a)})$. We give an explicit formula of the spectral norm of this matrix, which is only related to the generalized Tribonacci numbers. Afterwards, we also present upper and lower bounds for the spread of the circulant matrix $\mathcal{A}_1(T)$.

Now we give some preliminaries related to this paper. For any $\mathcal{A} = [a_{ij}] \in M_n$, the well-known Frobenius (or Euclidean) norm of the matrix \mathcal{A} is

$$\|\mathcal{A}\|_F = \left[\sum_{i=1}^n \sum_{j=1}^n |a_{ij}|^2 \right]^{\frac{1}{2}},$$

the spectral norm of \mathcal{A} is

$$\|\mathcal{A}\|_2 = \sqrt{\max_{1 \leq i \leq n} \lambda_i(\mathcal{A}^H \mathcal{A})},$$

and the spread of \mathcal{A} is

$$s(\mathcal{A}) = \max_{1 \leq i, j \leq n} |\lambda_i(\mathcal{A}) - \lambda_j(\mathcal{A})|,$$

where $\lambda_i(\mathcal{A})$ is eigenvalue of \mathcal{A} and \mathcal{A}^H is conjugate transpose of \mathcal{A} . Then the following inequality holds [26]:

$$s(\mathcal{A}) \leq \left[\left(2\|\mathcal{A}\|_F^2 - \frac{2}{n}|\text{tr}\mathcal{A}|^2 \right)^2 - 2\|\mathcal{A}\mathcal{A}^H - \mathcal{A}^H\mathcal{A}\|_F^2 \right]^{\frac{1}{4}}, \tag{3}$$

where $\text{tr}\mathcal{A}$ is trace of \mathcal{A} .

Lemma 1.1. [19] Let $\mathcal{A} = [a_{ij}]$ be an $n \times n$ matrix.

- (i) If \mathcal{A} is real and normal, then $s(\mathcal{A}) \geq \frac{1}{n-1} |\sum_{i \neq j} a_{ij}|$;
- (ii) If \mathcal{A} is Hermitian, then $s(\mathcal{A}) \geq 2 \max_{i \neq j} |a_{ij}|$.

Lemma 1.2. [27] Let Q_g be an $n \times n$ g -circulant matrix with the first row $(1, 0, \dots, 0)$. Then

- (i) Q_g is unitary if and only if $(n, g) = 1$;

(ii) \mathcal{A} is a g -circulant matrix with the first row $(a_0, a_1, \dots, a_{n-1})$ if and only if $\mathcal{A} = Q_g C$, where C is a circulant matrix with the first row $(a_0, a_1, \dots, a_{n-1})$.

Lemma 1.3. [28] Let $\mathcal{A} = [a_{ij}] \in M_n$ be a nonnegative matrix. Then its spectral radius $\rho(\mathcal{A})$ satisfies the following inequality

$$\min_{1 \leq i \leq n} \sum_{j=1}^n a_{ij} \leq \rho(\mathcal{A}) \leq \max_{1 \leq i \leq n} \sum_{j=1}^n a_{ij}. \tag{4}$$

2. Main results

We consider three sequences $\{X_n\}, \{Y_n\}$ and $\{Z_n\}$, which satisfy the recurrence (2) and the following initial conditions:

$$X_0 = 0, \quad X_1 = 0, \quad X_2 = 1;$$

$$Y_0 = 0, \quad Y_1 = 1, \quad Y_2 = 0;$$

$$Z_0 = 1, \quad Z_1 = 0, \quad Z_2 = 0.$$

Then $T_i^{(a)} = aX_{i+1}$, and the Binet formulas of these sequences are given by [23]:

$$\begin{cases} X_n = A_1\gamma_1^n + A_2\gamma_2^n + A_3\gamma_3^n, \\ Y_n = B_1\gamma_1^n + B_2\gamma_2^n + B_3\gamma_3^n, \\ Z_n = C_1\gamma_1^n + C_2\gamma_2^n + C_3\gamma_3^n, \end{cases} \tag{5}$$

where

$$A_1 = \frac{1}{(\gamma_1 - \gamma_2)(\gamma_1 - \gamma_3)}, \quad A_2 = \frac{1}{(\gamma_2 - \gamma_3)(\gamma_2 - \gamma_1)}, \quad A_3 = \frac{1}{(\gamma_3 - \gamma_1)(\gamma_3 - \gamma_2)};$$

$$B_1 = \frac{-(\gamma_2 + \gamma_3)}{(\gamma_1 - \gamma_2)(\gamma_1 - \gamma_3)}, \quad B_2 = \frac{-(\gamma_3 + \gamma_1)}{(\gamma_2 - \gamma_3)(\gamma_2 - \gamma_1)}, \quad B_3 = \frac{-(\gamma_1 + \gamma_2)}{(\gamma_3 - \gamma_1)(\gamma_3 - \gamma_2)};$$

$$C_1 = \frac{\gamma_2\gamma_3}{(\gamma_1 - \gamma_2)(\gamma_1 - \gamma_3)}, \quad C_2 = \frac{\gamma_3\gamma_1}{(\gamma_2 - \gamma_3)(\gamma_2 - \gamma_1)}, \quad C_3 = \frac{\gamma_1\gamma_2}{(\gamma_3 - \gamma_1)(\gamma_3 - \gamma_2)}.$$

By solving the equations in (5), we obtain

$$\begin{cases} \gamma_1^n = \gamma_1^2 X_n + \gamma_1 Y_n + Z_n, \\ \gamma_2^n = \gamma_2^2 X_n + \gamma_2 Y_n + Z_n, \\ \gamma_3^n = \gamma_3^2 X_n + \gamma_3 Y_n + Z_n. \end{cases} \tag{6}$$

Next we give an explicit formula of the spectral norm of the matrix $\mathcal{A}_g(T)$, which is only related to the generalized Tribonacci numbers $T_i^{(a)}$.

Theorem 2.1. Let $\mathcal{A}_g(T)$ be as the matrix in (1), with $a_i = T_i^{(a)} (i = 0, 1, \dots, n - 1)$ in the first row of $\mathcal{A}_g(T)$. If $(n, g) = 1$, then we have

$$\|\mathcal{A}_g(T)\|_2 = \frac{T_{n+1}^{(a)} + (1 - u)T_n^{(a)} + wT_{n-1}^{(a)} - a}{u + v + w - 1}.$$

Proof. Applying the results from Lemma 1.2, we obtain

$$(\mathcal{A}_g(T))^H \mathcal{A}_g(T) = (Q_g C)^H Q_g C = C^H (Q_g)^H Q_g C = C^H C,$$

where $C = [c_{ij}]$ is an $n \times n$ circulant matrix with the first row $(T_0^{(a)}, T_1^{(a)}, \dots, T_{n-1}^{(a)})$. Hence the spectral norm of the matrix $\mathcal{A}_g(T)$ is the same as that of C .

Since the circulant matrix C is normal, there exists a unitary matrix $U \in M_n$ such that $U^H C U = \text{diag}(\lambda_1, \lambda_2, \dots, \lambda_n)$, where λ_i is eigenvalue of C , hence

$$U^H C^H C U = \text{diag}(|\lambda_1|^2, |\lambda_2|^2, \dots, |\lambda_n|^2).$$

Therefore, the spectral norm of C is given by its spectral radius. Note that C is nonnegative, hence its spectral radius $\rho(C)$ satisfies the following inequality:

$$\min_{1 \leq i \leq n} \sum_{j=1}^n c_{ij} \leq \rho(C) \leq \max_{1 \leq i \leq n} \sum_{j=1}^n c_{ij}.$$

Moreover, for each $i \in \{1, 2, \dots, n\}$, we have

$$\begin{aligned} \sum_{j=1}^n c_{ij} &= \sum_{k=0}^{n-1} T_k^{(a)} = a \sum_{k=0}^{n-1} X_{k+1} = a \sum_{k=0}^{n-1} (A_1 \gamma_1^{k+1} + A_2 \gamma_2^{k+1} + A_3 \gamma_3^{k+1}) \\ &= a \left[\frac{A_1 \gamma_1 (1 - \gamma_1^n)}{1 - \gamma_1} + \frac{A_2 \gamma_2 (1 - \gamma_2^n)}{1 - \gamma_2} + \frac{A_3 \gamma_3 (1 - \gamma_3^n)}{1 - \gamma_3} \right] \\ &= \frac{a [X_{n+2} + (1 - u)X_{n+1} + wX_n - 1]}{u + v + w - 1} \\ &= \frac{T_{n+1}^{(a)} + (1 - u)T_n^{(a)} + wT_{n-1}^{(a)} - a}{u + v + w - 1}. \end{aligned}$$

It follows that

$$\|\mathcal{A}_g(T)\|_2 = \|C\|_2 = \frac{T_{n+1}^{(a)} + (1 - u)T_n^{(a)} + wT_{n-1}^{(a)} - a}{u + v + w - 1}.$$

Thus the proof is completed. \square

If we take $a = u = v = w = 1$ in Theorem 2.1, then we obtain the spectral norm of a g -circulant matrix involving the Tribonacci numbers.

Corollary 2.2. Let $\mathcal{B}_g(T)$ be a g -circulant matrix with the first row $(T_0, T_1, \dots, T_{n-1})$. If $(n, g) = 1$, then we have

$$\|\mathcal{B}_g(T)\|_2 = \frac{T_{n+1} + T_{n-1} - 1}{2}.$$

In the sequel of this paper, we will investigate the spread of the circulant matrix $\mathcal{A}_1(T)$. Before presenting our main theorem, we need the following several lemmas.

Lemma 2.3. For arbitrary integer $k \geq 0$, we have

$$\sum_{i=1}^3 A_i^2 \gamma_i^k = \frac{2(v^2 - 3uw)X_k - (uv + 9w)Y_k + 2(u^2 + 3v)Z_k}{\Delta^2} \tag{7}$$

$$\sum_{1 \leq i < j \leq 3} A_i A_j (\gamma_i \gamma_j)^k = \frac{uwH_{k-1} - 2w^2H_{k-2} - H_{k+1}}{\Delta^2} \tag{8}$$

where

$$\begin{aligned} \Delta^2 &= u^2v^2 - 27w^2 + 4v^3 - 4u^3w - 18uvw, \\ H_r &= (v^2 - 2uw)X_r^2 - (uv + 3w)X_rY_r + 2(u^2 + 2v)X_rZ_r + 2uY_rZ_r \\ &\quad - vY_r^2 + 3Z_r^2 \quad (r = -2, -1, 0, 1, 2, \dots). \end{aligned}$$

Proof. Since

$$\begin{aligned} A_1^2 + A_2^2 + A_3^2 &= \frac{1}{(\gamma_1 - \gamma_2)^2(\gamma_1 - \gamma_3)^2} + \frac{1}{(\gamma_2 - \gamma_3)^2(\gamma_2 - \gamma_1)^2} + \frac{1}{(\gamma_3 - \gamma_1)^2(\gamma_3 - \gamma_2)^2} \\ &= \frac{2[(\gamma_1^2 + \gamma_2^2 + \gamma_3^2) - (\gamma_1\gamma_2 + \gamma_2\gamma_3 + \gamma_1\gamma_3)]}{(\gamma_1 - \gamma_2)^2(\gamma_2 - \gamma_3)^2(\gamma_3 - \gamma_1)^2} \\ &= \frac{2(u^2 + 3v)}{\Delta^2}, \end{aligned}$$

and

$$\gamma_1A_1^2 + \gamma_2A_2^2 + \gamma_3A_3^2 = -\frac{uv + 9w}{\Delta^2}, \quad \gamma_1^2A_1^2 + \gamma_2^2A_2^2 + \gamma_3^2A_3^2 = \frac{2(v^2 - 3uw)}{\Delta^2},$$

the formula (7) is valid for $k = 0, 1, 2$. In the case $k \geq 3$, according to (6), we obtain

$$\begin{aligned} \sum_{i=1}^3 A_i^2 \gamma_i^k &= \sum_{i=1}^3 A_i^2 (\gamma_i^2 X_k + \gamma_i Y_k + Z_k) \\ &= \left(\sum_{i=1}^3 \gamma_i^2 A_i^2 \right) X_k + \left(\sum_{i=1}^3 \gamma_i A_i^2 \right) Y_k + \left(\sum_{i=1}^3 A_i^2 \right) Z_k \\ &= \frac{2(v^2 - 3uw)X_k - (uv + 9w)Y_k + 2(u^2 + 3v)Z_k}{\Delta^2}. \end{aligned}$$

Next we will prove the formula (8). Since (6) is valid for $r \geq -2$, we have

$$\begin{aligned} \sum_{1 \leq i < j \leq 3} (\gamma_i \gamma_j)^r &= \sum_{1 \leq i < j \leq 3} (\gamma_i^2 X_r + \gamma_i Y_r + Z_r)(\gamma_j^2 X_r + \gamma_j Y_r + Z_r) \\ &= \left(\sum_{1 \leq i < j \leq 3} (\gamma_i \gamma_j)^2 \right) X_r^2 + \left(\sum_{1 \leq i < j \leq 3} (\gamma_i^2 \gamma_j + \gamma_i \gamma_j^2) \right) X_r Y_r + \left(\sum_{1 \leq i < j \leq 3} (\gamma_i \gamma_j) \right) Y_r^2 \\ &\quad + 2 \left(\sum_{i=1}^3 \gamma_i^2 \right) X_r Z_r + 2 \left(\sum_{i=1}^3 \gamma_i \right) Y_r Z_r + 3 Z_r^2 \\ &= (v^2 - 2uw)X_r^2 - (uv + 3w)X_r Y_r + 2(u^2 + 2v)X_r Z_r \\ &\quad + 2uY_r Z_r - vY_r^2 + 3Z_r^2 \end{aligned}$$

It follows that

$$\begin{aligned} \sum_{1 \leq i < j \leq 3} A_i A_j (\gamma_i \gamma_j)^k &= \frac{\gamma_1 \gamma_2 \gamma_3 \sum_{1 \leq i < j \leq 3} (\gamma_i^{k-1} \gamma_j^k + \gamma_i^k \gamma_j^{k-1}) - \sum_{1 \leq i < j \leq 3} (\gamma_i \gamma_j)^{k+1} - (\gamma_1 \gamma_2 \gamma_3)^2 \sum_{1 \leq i < j \leq 3} (\gamma_i \gamma_j)^{k-2}}{\Delta^2} \\ &= \frac{uw \sum_{1 \leq i < j \leq 3} (\gamma_i \gamma_j)^{k-1} - 2w^2 \sum_{1 \leq i < j \leq 3} (\gamma_i \gamma_j)^{k-2} - \sum_{1 \leq i < j \leq 3} (\gamma_i \gamma_j)^{k+1}}{\Delta^2} \\ &= \frac{uwH_{k-1} - 2w^2H_{k-2} - H_{k+1}}{\Delta^2} \end{aligned}$$

Thus the proof is completed. \square

For the convenience of the discussion, we denote

$$M_i := \frac{2(v^2 - 3uw)X_i - (uv + 9w)Y_i + 2(u^2 + 3v)Z_i}{\Delta^2}, \tag{9}$$

$$N_i := \frac{uwH_{i-1} - 2w^2H_{i-2} - H_{i+1}}{\Delta^2}. \tag{10}$$

Lemma 2.4. For the generalized Tribonacci sequence $\{T_n^{(a)}\}$, if $v \neq u + w + 1$ and $v \neq w^2 - uw - 1$, then we have

$$\begin{aligned} \sum_{j=0}^{n-1} (T_j^{(a)})^2 &= \frac{a^2[w^2(M_0 - M_{2n}) + (1 - u^2 - 2v)(M_2 - M_{2n+2}) + (M_4 - M_{2n+4})]}{(v - 1)^2 - (u + w)^2} \\ &\quad + \frac{2a^2[w^2(N_0 - N_n) + (1 + v)(N_1 - N_{n+1}) + (N_2 - N_{n+2})]}{1 + v + uw - w^2}. \end{aligned}$$

Proof. Since $v \neq u + w + 1$ and $v \neq w^2 - uw - 1$, $\gamma_i \gamma_j \neq 1$ for any $i, j \in \{1, 2, 3\}$. Applying Binet formula of the sequence $\{X_n\}$, then we obtain

$$\begin{aligned} \sum_{j=0}^{n-1} (T_j^{(a)})^2 &= a^2 \sum_{j=0}^{n-1} X_{j+1}^2 = a^2 \sum_{j=0}^{n-1} \left(\sum_{i=1}^3 A_i \gamma_i^{j+1} \right)^2 \\ &= a^2 \sum_{j=0}^{n-1} \left(\sum_{i=1}^3 A_i^2 \gamma_i^{2(j+1)} + 2 \sum_{1 \leq i < k \leq 3} A_i A_k (\gamma_i \gamma_k)^{j+1} \right) \\ &= a^2 \sum_{i=1}^3 \frac{A_i^2 \gamma_i^2 (1 - \gamma_i^{2n})}{1 - \gamma_i^2} + 2a^2 \sum_{1 \leq i < k \leq 3} \frac{A_i A_k (\gamma_i \gamma_k) [1 - (\gamma_i \gamma_k)^n]}{1 - \gamma_i \gamma_k}. \end{aligned}$$

By Lemma 2.3, we get

$$\begin{aligned} \sum_{i=1}^3 \frac{A_i^2 \gamma_i^2 (1 - \gamma_i^{2n})}{1 - \gamma_i^2} &= \frac{w^2 \sum_{i=1}^3 A_i^2 (1 - \gamma_i^{2n}) + (1 - u^2 - 2v) \sum_{i=1}^3 A_i^2 \gamma_i^2 (1 - \gamma_i^{2n}) + \sum_{i=1}^3 A_i^2 \gamma_i^4 (1 - \gamma_i^{2n})}{(1 - \gamma_1^2)(1 - \gamma_2^2)(1 - \gamma_3^2)} \\ &= \frac{w^2(M_0 - M_{2n}) + (1 - u^2 - 2v)(M_2 - M_{2n+2}) + (M_4 - M_{2n+4})}{(v - 1)^2 - (u + w)^2} \end{aligned}$$

and

$$\sum_{1 \leq i < k \leq 3} \frac{A_i A_k (\gamma_i \gamma_k) [1 - (\gamma_i \gamma_k)^n]}{1 - \gamma_i \gamma_k} = \frac{w^2 \sum_{1 \leq i < k \leq 3} A_i A_k [1 - (\gamma_i \gamma_k)^n] + \sum_{1 \leq i < k \leq 3} A_i A_k (\gamma_i \gamma_k)^2 [1 - (\gamma_i \gamma_k)^n] + (1 + v) \sum_{1 \leq i < k \leq 3} A_i A_k (\gamma_i \gamma_k) [1 - (\gamma_i \gamma_k)^n]}{(1 - \gamma_1 \gamma_2)(1 - \gamma_2 \gamma_3)(1 - \gamma_1 \gamma_3)}$$

$$= \frac{w^2(N_0 - N_n) + (1 + v)(N_1 - N_{n+1}) + (N_2 - N_{n+2})}{1 + v + uw - w^2}.$$

Thus the proof is completed. \square

Theorem 2.5. For the circulant matrix $\mathcal{A}_1(T)$, if $v \neq u + w + 1$ and $v \neq w^2 - uw - 1$, then we have

$$s(\mathcal{A}_1(T)) \geq \frac{n}{n-1} \left[\frac{T_{n+1}^{(a)} + (1-u)T_n^{(a)} + wT_{n-1}^{(a)} - a}{u+v+w-1} \right],$$

and

$$s(\mathcal{A}_1(T)) \leq \sqrt{2na} \left[\frac{w^2(M_0 - M_{2n}) + (1 - u^2 - 2v)(M_2 - M_{2n+2}) + (M_4 - M_{2n+4})}{(v-1)^2 - (u+w)^2} + \frac{2(w^2(N_0 - N_n) + (1+v)(N_1 - N_{n+1}) + (N_2 - N_{n+2}))}{1 + v + uw - w^2} \right]^{\frac{1}{2}},$$

where M_i, N_i are given by (9) and (10).

Proof. Since $\mathcal{A}_1(T)$ is a real and normal matrix, applying the results from Lemma 1.1 and Theorem 2.1, we have

$$s(\mathcal{A}_1(T)) \geq \frac{n}{n-1} \left[\sum_{k=0}^{n-1} T_k^{(a)} - T_0^{(a)} \right] = \frac{n}{n-1} \left[\frac{T_{n+1}^{(a)} + (1-u)T_n^{(a)} + wT_{n-1}^{(a)} - a}{u+v+w-1} \right].$$

On the other hand, since $(\mathcal{A}_1(T))^H \mathcal{A}_1(T) = \mathcal{A}_1(T)(\mathcal{A}_1(T))^H$, by using (3) and Lemma 2.4, we obtain

$$s(\mathcal{A}_1(T)) \leq \sqrt{2\|\mathcal{A}_1(T)\|_F^2 - \frac{2}{n}|\text{tr}\mathcal{A}_1(T)|^2} = \sqrt{2}\|\mathcal{A}_1(T)\|_F = \sqrt{2} \left[n \sum_{k=0}^{n-1} (T_k^{(a)})^2 \right]^{\frac{1}{2}}$$

$$= \sqrt{2na} \left[\frac{w^2(M_0 - M_{2n}) + (1 - u^2 - 2v)(M_2 - M_{2n+2}) + (M_4 - M_{2n+4})}{(v-1)^2 - (u+w)^2} + \frac{2(w^2(N_0 - N_n) + (1+v)(N_1 - N_{n+1}) + (N_2 - N_{n+2}))}{1 + v + uw - w^2} \right]^{\frac{1}{2}}.$$

Thus the proof is completed. \square

If we take $a = u = v = w = 1$ in Theorem 2.5, then we obtain upper and lower bounds for the spread of a circulant matrix involving the Tribonacci numbers.

Corollary 2.6. Let $\mathcal{B}_1(T)$ be a circulant matrix with the first row $(T_0, T_1, \dots, T_{n-1})$. Then we have

$$s(\mathcal{B}_1(T)) \geq \frac{n}{n-1} \left(\frac{T_{n+1} + T_{n-1} - 1}{2} \right),$$

and

$$s(\mathcal{B}_1(T)) \leq \sqrt{2n} \left[\frac{11 + 7X_{2n+1} - 2X_{2n} + X_{2n-1} - (H_{n+3} + 2H_{n+2} + 3H_{n-1} + 2H_{n-2})}{44} \right]^{\frac{1}{2}},$$

where $H_r = -X_r^2 - 4X_r Y_r + 6X_r Z_r + 2Y_r Z_r - Y_r^2 + 3Z_r^2$ ($r = 0, 1, 2, \dots$).

Acknowledgement

The authors wish to sincerely thank the referee for his/her comments and suggestions which helped us to improve the quality of the manuscript.

References

- [1] M. Andrecut, Applications of left circulant matrices in signal and image processing, *Modern Physics Letters B* 22 (2008) 231–241.
- [2] Y. Jing, H. Jafarkhani, Distributed differential space-time coding for wireless relay networks, *IEEE Transactions on Communications* 56 (2008) 1092–1100.
- [3] G. Q. Wang, S. S. Cheng, 6-periodic travelling waves in an artificial neural network with bang-bang control, *Journal of Difference Equations and Applications* 18 (2012) 261–304.
- [4] X. Q. Jin, V. K. Sin, L. L. Song, Circulant-block preconditioners for solving ordinary differential equations, *Applied Mathematics and Computation* 140 (2003) 409–418.
- [5] A. E. Gilmour, Circulant matrix methods for the numerical solution of partial differential equations by FFT convolutions, *Applied Mathematical Modelling* 12 (1988) 44–50.
- [6] S. Solak, On the norms of circulant matrices with the Fibonacci and Lucas numbers, *Applied Mathematics and Computation* 160 (2005) 125–132.
- [7] A. İpek, On the spectral norms of circulant matrices with classical Fibonacci and Lucas numbers entries, *Applied Mathematics and Computation* 217 (2011) 6011–6012.
- [8] B. Radičić, On k -circulant matrices with the Lucas numbers, *Filomat* 32 (2018) 4037–4046.
- [9] B. Radičić, On k -circulant matrices involving the Pell numbers, *Results in Mathematics* 74(4) (2019).
- [10] C. Köme, Y. Yazlık, On the spectral norms of r -circulant matrices with the biperiodic Fibonacci and Lucas numbers, *Journal of Inequalities and Applications* 2017 (2017) 192.
- [11] L. Liu, On the spectrum and spectral norms of r -circulant matrices with generalized k -Horadam numbers entries, *International Journal of Computational Mathematics* 2014 (2014) Article ID 795175.
- [12] N. Tuglu, C. Kizilates, On the norms of circulant and r -circulant matrices with the hyperharmonic Fibonacci numbers, *Journal of Inequalities and Applications* 2015 (2015) 253.
- [13] M. Baḡşı, On the norms of r -circulant matrices with the hyperharmonic numbers, *Journal of Mathematical Inequalities* 10(2) (2016) 445–458.
- [14] C. Kizilates, N. Tuglu, On the bounds for the spectral norms of geometric circulant matrices, *Journal of Inequalities and Applications* 2016 (2016) 312.
- [15] B. Shi, The spectral norms of geometric circulant matrices with the generalized k -Horadam numbers, *Journal of Inequalities and Applications* 2018 (2018) 14.
- [16] J. Zhou, Z. Jiang, The spectral norms of g -circulant matrices with classical Fibonacci and Lucas numbers entries, *Applied Mathematics and Computation* 233 (2014) 582–587.
- [17] Z. Jiang, J. Zhou, A note on spectral norms of even-order r -circulant matrices, *Applied Mathematics and Computation* 250 (2015) 368–371.
- [18] S. Q. Shen, W. J. Liu, J. J. He, On the spectral norms of some special g -circulant matrices, *Hacettepe Journal of Mathematics and Statistics* 45 (2016) 1441–1448.
- [19] C. R. Johnson, R. Kumar, H. Wolkowicz, Lower bounds for the spread of a matrix, *Linear Algebra and its Applications* 71 (1985) 161–173.
- [20] E. Jiang, X. Zhan, Lower bounds for the spread of a Hermitian matrix, *Linear Algebra and its Applications* 256 (1997) 153–163.
- [21] J. Li, Z. Jiang, F. Lu, Determinants, norms, and the spread of circulant matrices with Tribonacci and generalized Lucas numbers, *Abstract and Applied Analysis* 2014 (2014) Article ID 381829.
- [22] T. Mansour, M. Shattuck, Polynomials whose coefficients are generalized Tribonacci numbers, *Applied Mathematics and Computation* 219 (2013) 8366–8374.
- [23] S. Rabinowitz, Algorithmic manipulation of third-order linear recurrences, *Fibonacci Quarterly* 34 (1996) 447–464.
- [24] S. Q. Shen, W. J. Liu, L. H. Feng, Explicit inverses of generalized Tribonacci circulant type matrices, *Hacettepe Journal of Mathematics and Statistics* 48 (2019) 689–699.
- [25] M. Elia, Derived sequences, the Tribonacci recurrence and cubic forms, *Fibonacci Quarterly* 39 (2001) 107–115.
- [26] R. Sharma, R. Kumar, Remark on upper bounds for the spread of a matrix, *Linear Algebra and its Applications* 438 (2013) 4359–4362.
- [27] W. T. Stallings, T. L. Boullion, The pseudoinverse of an r -circulant matrix, *Proceedings of the American Mathematical Society* 34 (1972) 385–388.
- [28] R. A. Horn, C. R. Johnson, *Topics in Matrix Analysis*, Cambridge University Press, Cambridge, 1991.